DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

£ Departmental Test for the Ministerial Staff
Name of the of the Department of the Economics and | 075
Test: Statistics (Without Books)

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamen@m eusms eNeTTE&mer

Read the following instructions carefully before beginning to answer the
questions.

MNamés@E &G L wWealsss QHM_RGL (P6TY SDESEIL M6 MTEHMaTH
SHEUSRTLONSL U H&HaLD.

1. This computer based Test contains 100 number of questions in objective
Type.
Qnss sewilel aulfldh CHIeuTangl, 100 QTGN cumsUleorer eeTdHeemend

AL 1109 ()

2. Answer all questions. Each question carries one mark
MGG NTEHEHERHGWL el WwWelldsad @aiQeurm ellameayd e
LOSHICILIETT 2 6L LLIg).

3 In case of doubt, English version is the Final.
aleméeeiled #hCHHED QUGS YRS eaugaNsd QsTBR&HSUUL [Herer
alerre&Gen Qm) SHlimen ).

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qg alammésaicy QLD QummieTen 6001 LTS &eufledr eUMydhem & sefled
CoHemeulilig e,  &OeGCHEMU  Qustr LTSS SHeUflelT  EUTTEH6M S5 EHLD
SIL_MI@GLD

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

ellesuieniiugmisen  seell oufly Csialinm@ el welldss Q&ML RiGLD
Wwer  seellullesr  Hemgulled Camammid  SHleyemIHMmeT  HalaTLONSL)
Ulg $&6LD

a) One question will be displayed on the screen at a time.
@Gy CrnsdHed @ alsm L HCWL saMald SHamguned CHTeTMID.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display
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(n

If n, and n, the sample sizes; X, ¥, the means; o, and o, the S.Ds of two series,
then the S.D o of the combined series of size n, + ny is
n,wHmID n, WA SeTeyser CarerL @ Gsmseflen syref Xy, Xy -l Lelssd 0, Oy

erafled Beupdlen purdameanns ny + ny Sereyerer QgmMen £l Lelwssd o

A oo [ lotedt)onfot o i)

n, +ny
1 . .
B) o= \fnl o [y 0% + nyo]
C) o= X [(n,jl + n2)(02 +c?)]
n, +n, : .
D) o= 1 [(n ol +n,02) (dF +d2)]
"~ 1 0} 2032 ) 9

Skewness means
Cam_L LD GTesTmmed

(A) Standard deviation (B) Equality
L eflewssid FLOLDITENS)
) Lack of symmetry (D) Dispersion
ErHms) fgme

The point of Intersection of the less than and more than ogive, corresponds to
G wHOID s {Hb @dleusaflen Qeul_(Bbyerefl @HlLLS)

(A) The mean M The Median
gymai @enL_bHlenev
(C) Mode (D) S.D
WpaH S Lellessd
3 117/DM/22
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4, A single letter is selected of random frame the word “Probability”, the probability
that it’s a vowel 1s
“Probability” ereénp Qsmeelmpg sweumiiy wepuie CsibEsBs&suLED @b (WSS
2 Wit er(WdHNE @HLUUSHSTE BlEDsse

3 2
o By =
11 ®) 11

4 3
N L o >

(A)

5. If x and y are random variable, this covariance 1s
X Hmb y erenm Fweumiliy wrdlaefer wrmumrh
) cov (vy) = Exy) ~ E) E() B) cov(x.y) = E (x22) — E(?) E()

©)  cov (uy) = E(cy) - [E) EG)2 (D) cov () = VE(?y?)- [E@EQ)

6. The moment generating function of a normal distribution 1s
Qualena ugeueier MGF gty
pnro}rzﬁz u!-l!n
) e B) e *
= - tie® pH}trs
(C) e 2 D) e *
7. The population constant is called
wpenog Qgrensulen wrbledl eremuig)
\X parameter (B) statistic
LI 6T LI ST en 6U o M) LI GO0 LIGTTEHEL
(C) hypothesis (D) sample
eT(hGamar LN

117/DM/22 4



8.

10.

11.

A v @ —&

The moment generating function of geometric distribution is
Qups@Hlane uyeuelen MGF g

@ 2 ® —E-
qge 1+qge

1-qgeé' 1~ig

For a binomial distribution n =6 and if 9P (x = 4) = P (x = 2) this the value if “P" is

i »”

n=6 e wmrmnly urauda 9P (x=4)=P(x= 2) erafle “p

A) 0 AN oz

(C) 0.5 D) 1

a1 Sl

Var(x)=1 then Var(2x +3) is

Var(x)=1 erafléd Var(2x +3) e wdliy

(A) 8 (B) 3

C) 5 (P V4

If Bc A then P(ANB)=

Bc A aafleo P(AnB)=
AN (B) P(B)-P(A)
(C) P(A)-P(B) (D) P(A)< P(B)

When the correlation coefficient r = +1 then the two regression lines are
U Hney Qapeden wHliy r=+1 eraflé) regression GamHser

(A) L toeach other M\ coincide
gamstareann (em@GssTeamame Qeul_iq& QEmaT(EnLDd
(C) parallel to each other (D) do not exist
G enemTuiTaencyl S|@LDILITE)
b1

117/DM/22
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13.

14.

16.

17.

The headings of the rows given in the first column of the table are called
?&'ﬁ&duf_l_ < Leuamamuié wpse Blanpulen Blrefler ienbgieTer (pgen SemeLiL

stabs (B) caption
(C) titles (D) head note

In EXCEL two matrices can be multiplied using the function
EXCEL gpanpuier @uainr(h xanflaeflan Quméad gl smemr LwemBib smiy

(A) MMAT (B) MATMOL
(C) MATM Y\ MMULT

The standard error of sample mean X is qual to
@ ureuaien srmafl X e S L Genip

G G-
‘M 7; (B) 5‘;
PQ 2 |2
© oy

The variance of a chi-square distribution with (n — 1) degrees of freedom i1s
(n — 1) sLgeneio saprs GamanL eseuTés Ligeualer, Lyaubuly

(A 2(n+1) (B) n

(C) 2n ﬁ 2(n-1)

The mode of Poisson distribution when ‘A’ is an integer is given by
‘N @ (p( ereiTania @) hdb@GEUTE Lravgmen Lgeuear (psH)

(A) (A1+1)and 2 (B) r-1

C) & ﬁ (A-1)and 4

117/DM/22 6



18.

19

20.

21

22.

A bag contains 3 red, 6 white and 7 blue balls, the probability that the two balls
drawn are “white and blue” is

em e@udd 3 Aealy, 6 deudrener, 7 Beo Hlm LbgISET 2 emerner, @eupdladlmbg FoaumuiL
apernudled @rem () LubgiseT 6T(HEE Diameu Ceaudener WHHILD Bawrs G mes Hlspsse,

13 T
Ay 22 L
@) 16 20
13 1
C D) —
(®) 50 (D) 5

The appropriate distribution for describing the rare event is
<flw Hapeid QummSSLTE LTeleTs cumentl&Hs L (Heug)

(%) Binomial distribution Poisson distribution
(HMILIL] UTEUED UMIETE LFeUe)

(C)  Normal distribution (D) Regression distribution
@uidbleney LFeued > e Qg Guré@E Lgeua

The range of a partial correlation coefficient is,

wryuT () Capeiar aiss
(A) Otol (B) 0tow
-1to1l (D) —-=tow

The mean of Poisson variate is
umignen wrduder grmefl

(A) greater than variance (B) less than variance
equal to variance (D) twice its variance

Quartile deviation is
ST Ten edle&sLDd

(A) Q; + @, (B) Q; + @

2
W Q3 - Ql (D) Q:} - Ql
2 4

7 117/DM/22
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93 If ‘X’ is a Binomial distribution variate with parameter ‘n’ and P. If n = 1, the
distribution of X”is reduced to
57 s N, P e e w mppiy wrhl X aens. n =1 ergd Gung uyeusd X TMELS
(A)  Poisson distribution (B) Binomial distribution
Bernoulli distribution (D) Discrete distribution

94. An approximate relation between Quartile deviation and standard deviation of
normal distribution is
Auablee ureeer srawrar elasssEDELD. L el@sasdhEh edrer 2. nay
A 5QD=48SD (B) 4Q.D=58.D
yf\ 3Q.D=28.D D) 2QD=38.D

95.  If X ~ N (8, 64) the standard normal deviate ‘7’ will be,
X ~ N (8, 64) 2.enw L Querblene ureueden ‘2’ eremugy

A) Z:x—64 Jmz,:x—S
64

x-8 D) Z:x+64

3 8

926. If X and Y are independent, the value of correlation coefficient is equal to
X oo Y <paig sriupnsms Qmbsre @rGmey Qapaelien HULTEE TEHE G eramuTs

AIGECT
W 0 B) 1
0 1
(C) (D) Any positive value
o0 g CpflenL HLIAHEGLD

117/DM/22 8



217.

28.

30.

31.

The mean of the Chi-Square distribution 1s
Chi-Square urgeuelen gymad

rd
M half of its variane (B) B its variance
3
wrpurCiger urd oMMy LIML g 60T % WLATC
th rd
(C) & its variance (D) r of its variane
e = ; R
MY g & — LIl (& LOIYUTL 6T — UBIE

Chi-square distribution curve in respect of symmetry 18
Chi-square Lipeuelen ueneTeuanT 6Thd euansulled gL&&rmeang)

(A) Negatively skew (B) Symmetrical
ardieny skew FLOFFTTES)
Positively skew (D) Non-symmetrical
Cpirenm skew ELOEETHDS

The M.G.F. of Chi-Square distribution 1s
Chi-Square ugeuaden M.G.F.

A)  (1-2it)" B) (1-20)"

© (1-2it) " O (1-2) "

The range of F-variate is

F -ordluden eS&s
(A) -—owtow \93(\0 to o
(C) Otol (D) -wto0

If the mean and variance of Binomial distribution are 4, 3 respectively, then the
parameters ‘n’and p’are

mapmoy ureuear gymafl wHmb wrpuThse weonGu 4, 3 slEnuysd ‘n’ wogd P’
<, ElLIeneU&eT

1 1

A) 4, B) &~

(A) 4 (B) 3

1 1

16, — D) 8 =

\bﬁ()\ | (D) 1
9 117/DM/22
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32. If r =0 the lines of regression is
r =0 eraflé regression Cam(Haer

(A) Coincide (B) Parallel
anenn eann Gleul 1y &C&TeT(EnLd @ enemmuwinereney
{C) r=1 L to each other
r>1 pem&aTeanm Clem @ssneanamel

33. The variate F with usual notations is defined as
F o eisan @ueurer gHluihsafler cuanqupssiiuipeug

1
/. V
m Fes 7
X2/
/Vo
2 /
X1/
Vv
F-2Y
X2/
/ Vo
9
X1/
B) F=4"2
L2
V]
2
X1/
/ Vg
F==
X2/
X5
€ F=-7
X1/
v,
X3/
Vo
F= =
L1/
/Yy

(D)  All the above
Bleneu EATSGILD

117/DM/22 10



34.

35.

36.

37.

t — Distribution is used to
t - ugeuadlen (p&Hw LweTuT(H
m test the difference between two means

Quarr(h synaf elsdunsseng sremt

(B) test the difference between two variance
@ren® wrmur@aaien ellsHwunsseng &mewr

(C) test the goodness of fit
goodness of fit anemr

(D) test the independence of attributes
independence of attributes smemwr

Type-II Error is
Type—II Genip eremuig)

(A) Reject H, when H, is true
H, = a@nevowns @mé@naunpg Blynsilgsed
(B) Reject H, when H| is false
H, Qumiwrs @mé&@ntunipsgl Byraflsse
w Accept H, when H,, is false
H, Qumiwns @m&éEneunpg) FHM&EETETEHS
(D) Accept H, when H, 1is true
H, 2 a@nenwowins Gmé@0eunips) FhHmsE&meTiEnse

Chi-Square distribution is used for the test of
Chi-Square ugeueien Liwieru(h

W Goodness of fit (B) Hypothetical value of population
Both (A) and (B) (D) Neither (A) nor (B)

In normal distribution

@uievblens Lgeuedle
(A) Mean > Median > Mode (B) Mean < Median < Mode
(C) Mean > Median = Mode ‘m Mean = Median = Mode

11 117/DM/22
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38.  The alternative hypothesis for a right tailed test for testing the mean of a population
Hy:p=py
H, :p=p, 6@ eadyrer wrpm arGCamer euag) peanen Ganganamnuie ergeanan Camibls®luugl
s LEsEHD 2 arar Built seflen erameaniisans
(A) H,:p<pg (B) H,:p=p,
M H, :u>p, (D) H,:p#p

39. For any two events A and B then P(A-B) is
A, B arenp gCsayd Quan® Hanédsense P(A - B) erenug;
(A)  P(A)-P(B) (B) P(B)-P(A)
(©  P(B)-P(AB) O\ P(4)-P(aB)

40. The Probability that a leap year will have 53 Sundays is
% S eumLsHe 53 @i dmsHpemosdT aumeausnaTean Blsnsse]

@) 1/7 G 2/7

(C) 2/53 (D) 52/53

41. Data represents
yerefl eileurid eremmuig)

(A) a single value (B) two values
@Gy @ Y @rarr(h i
(C) alarge value a group of values
Quiflw wéliy wdlysar o hidw AsmEuy

42.  Double sampling is also known as

@QrlenL sam THEGD PEDES
(A) Two — stage sampling M\Two — phase sampling

Q@ Ly dap) TOEHD (D B oo sap TS50 (penD
(C) Two — dimensional sampling (D) All of these

@ ufirard gm erHE e (panm Gleneu SSHGID

117/DM/22 12



43.

44.

45.

Stratified random sampling comes under the category of
LB@®s sam) THS@D (penpeni SPeu(HD UEDSSEHET RETDTE FamieTLD

(A) Unrestricted sampling (B) Subjective sampling
S HUUT(H ADD SamiLpen ST ML SMI(LPEnD
ﬁ Restricted sampling (D) Purposive sampling
s_HUum(HLem samipenn Crréssg)Len &alq W FanlLpenn

Which sampling design is most appropriate for cluster sampling?
Spern sag TRSFRIEE THD s TOSSD S LD wing?
%\ Simple random sampling without replacement
eraflw sweumiiL (penmuied HHULSE HHVLTSH (PN
(B) Simple random sampling with replacement
ereflu geumiiy papuiled FmULse pen
(C) Stratified random sampling
LB ens il e
(D) Quota sampling
LGS saml aTBOIY PP

In cyclical variation, identify the correct order of the four phases
cuanflas sipadlen TmLIMTL g BreanE LGdsaflan sfluimear cuflengeni serLMls.
Prosperity, recession, depression and recovery
Qe iy, efip#d), Hsb wHmid BLE
(B) Recession, recovery, prosperity and depression
aSip&dl, B8, Gafliiy Hmd HSLD
(C) Prosperity, depression, recession and recovery
Qaflliy, whs, eSpéd wHmib IS
(D) Depression, recovery, recession and prosperity
Wwhs, B8, eipFd wHmd Clagiiiy

13 117/DM/22
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46.

47.

48.

49.

50.

Vital Statistics mainly concerned with
WeteupueupmeT it A liy eflurriser sbUBSLULL L el

(A) births (B) deaths
Wy ger @mlLser
(C) marriages all of these
&) (LD GO 151 & 6T @) eneu jenemHE) b

Whenever the size of the population is large, a simple random sample can be easily
obtained by adopting

wmws QsrgHular jemey CQuilwgns BQméEnurg, gbeumily &L aH&s
LweTL(HSSID (WPepm

(A) Lottery method ﬂ\ Random numbers method
GW&HGF FL[H perm TTEHTL_LD GTERTSHET (LPEn M

(C) Census method (D) None of these
&S5 QgTens samsblsBUL (penn @euple ergyaydlereney

In a poisson distribution, the mean value is 5 then the value of variance 1s
5-g0 symeflunss Qenarm g umisrer uyaallen LFeubUIg Ul WSl

(A) 25 B) 5

(C) 125 yﬁ'\ 5

The test used to find out if variances of more than two populations are equal 1s
@ramghE Gupul L apupews AstEdsaia wryUTHSET §OLNE D GTaTg GTENLIGDHETE
Congenanuineig)

(A) F—test (B) Student’s t — test

F —Gangenen evBLerig et t — Gamgene
(C) % test I\ 72— test

1% — Gangenen Z — Gangenen

The co-efficient of skewness for Poisson distribution f; =
umiismen uyeuadlan CarlLa Qe f; =

A) ,,(af 1/%

) 1 (D) 0

117/DM/22 14



51. The age specific death rate for the babies of less than one year is specially called
QL) eues @UIL| eSHLONET Q(h ULGIHEEGS GHMDOUTET GLHE®SEMET GU6UTH BN PSHLTLD

(A) neonatal death rate infant mortality rate
@amb @has Gy eipd Gphms @i eisd

(C) maternal mortality rate (D) foetal death rate
wsUGUY @il eS5h smelld @i eisb

52. When two unbiased coins are tossed once, the probability of expected number of

heads is

@ran® GppEupHy HramuBEmeT G (Wpen sETHL CuTg erHiunisslu(D gevasaf e
Hapssay

A) 1 (B) 2

\yt?\ 3/4 (D) 5/4

53. The error may arise due to
Yepip erpuBeugnamer siijenflser

(A) misspecification (B) non-availability of data
geuna &MU [H S0 S&50U SlanL_&amoe G(HLLS
(C) wrong assumptions m all of these
FHEUMTE DG LOTEILD Glanou eneSEID

54. Econometrics means
Sereneuls Qummetlwied eremg

(A) Law d‘ Economic measurement
&ULLD QumengTy erei()

(C) Formula (D) None of these
eumiium(® Qeupda ergie|liene

55. BLUE means

BLUE erémmug

(A) Best Linear Upper Estimate (B) Big Linear Upper Estimate
pis Cri&EGaN_[H Cue wHuSE Quilw Cpir&Gar_{H Gue wHSEH

(C) Best Least Unbiased Estimate Best Linear Unbiased Estimate
Hops Gepaurar Weapwpn wHITH Sppe CrreGar () Wepwn wHUSEH

15 117/DM/22
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56.

5.

58.

59.

60.

The range of ¢ distribution is
t -ureualer ai&s

W —w Ll <w

(C) O<t<w

(B)
D)

-1<t<l

—w<t<0

In which distribution, the mean and variance are equal?
et Lpeuallen symafl HmID LTeuDUIE RIS @ HESGD?

(A) Binomial distribution
FHDILIL LITeUeD

(C) Normal distribution
@uievblency Liyeued

(B)

Gamma distribution
SITLDIT LITEUGD

Poisson distribution
LIM&men LJeUed

Measures used to study the shape of the curve of a given distribution are
S LTeuedlen auigeudenss LD Siflbg G&meTer 2 Fe|lb SiaTaneuseT

m Measures of skewness

(A) Measures of kurtosis
SLENL_ S| ATENELEET

(C) Quartiles

& ITEV LD TG TR & 6T

D)

Garl_L SeTenausHer

Mean
EDucal

The average which is mostly affected by the smallest value is
Aflw wH UL w eransarte @b syrafl flab urdlssiuBH

(A) Arithmetic mean
gal_(n& gymaf

Harmonic mean
Qlengé grna]

In a symmetrical distribution
FFEyTan LFeuadley

‘M\ Mean = Median = Mode

gymefl = @enL_Hlevev = s [H
(C) Mean > Median > Mode
gyrefl > @eanHlenew > ps(H

117/DM/22

(B)

(D)

(B)

D)

16

Geometric mean
Qu(pE@E syrs]
Mode

s

Mean # Median # Mode
syrafl # Qe e # (&
Mean < Median < Mode
syrefl < @enflae < s



61.

63.

64.

Median can be calculated using
@eLflenew semmadlL 2 gab euenguL LD

(A) Frequency distribution w Ogives
Uyeued GFaueus UL LD QNG

(C) Bar diagram (D) Scattered diagram
Ul e eflemdaiL b Aame efleTéds UL LD

The Government organization whose primary responisbility is organizing s0C10-
economic survey 1s
Feps - QummenTmgmy <piellenan (padlw uanflung eom BLSGID AT Blmeued @&

(A) ISI (B) CSO
YO\ Nsso (D) MOSPI

A number is chosen at random from the first 20 natural numbers. The probability
that it is a multiple of 3 or 5 1s

wpa® 20 eramenilaf(Bhg FweumiLL (penpUiled gh ere GaibAsHEsLLOHDE. b eTam 3
Siag 5 Ger L@ erarants (multiple) @@luspsnean Hspsse, erean?

(A) 172 9/20
(C) 3/10 (D) 1/5

A and B appears for an interview for two posts. The probability of A’s selection 1s 1/7
and that of B's selection is 1/5. What is the probability that only one of them will be
selected?

2 usdsersstar @@ Cprepss Csielld A womD B sobg Csmare
A-GsipQs@uusperer Hapsse) 1/7 wpmd B-amw Gsipsuuspsrar Bspsseal 1/5
2GD. @G euany LU Hb CoTHESHUILSDSTE Hlspss6]

A 6/7 A\ 2

(C) 4/5 (D) 4/35

17 117/DM/22
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65.

66.

67.

638.

117/DM/22

Frequency of a variable is always

s wrlular vimabeusmeameg) (frequency) eriGung)d

(A) 1in percentage (B)
FSEISHLONG
an integer (D)
R PP cram

We prefer to present interval data by

a fraction
@@m Yeenid
mid value
LW LOGILIL|

Ben_Qeued Lerafl eleursens @ser ppad Qeueliu@BSs (pssluggiaib &(H&H Comid

(B)

(A) bar chart
Ul enL efleTdsluLLD

d\ histogram

Hlap Ceuer GFaueasd

(D)

pie chart

aul L efersasluL LD
pictogram

2 (heuliuL eSlaTés L LD

Out of all measure of dispersion the easiest one to calculate is
LIFa s DjeTanauselle seLiomar (pamulle S &S L_&oalq g

(A) Standard deviation
S eflewssid
(C) Variance

Nevds aunss grmaf

ange

&

(D) Quartile deviation

FTmer eSlen&sLd

If the co-efficient of kurtosis is zero, then the frequency curve is
s & Qs wiwib aafle, Hsptea aumarGan(

(A) Leptokurtic (B)
e sLeLwineng
Mesokurtic

Guia s e uwimeng)

18

Platykurtic
GPDS HL ML WG

(D) None of these

Qeupmer ergiaydldency



69.

70.

71.

Correctly match List A with List B and select your answer using the codes given
below :

L gwed Ag uligwe B e e Qurmsdl. Gy QarhésiiulHerer @HluiRsmens Clane(h
sflwrar ellenLenwis CaiHCs (.

List A List B

(a) Sex, colour, personality 1. Interval
unelerd, Hipw, saflwefls @enL_Cauarfl
SpUfuweoy

(b) Rank in school, military 2. Ratio
uereflude sreufens, Tramiesdle aigid
B7 AL

(¢) Calendar time, altitude 3. Nominal
BrL&m g CHID, G&SSIW D QuwIT euens

(d) Height, weight 4. Ordinal
2 WD, ETenL aflens cuens
(a) (b) (c) (d)

(A 1 2 3 4

B) 2 3 4 1

3 4 1 2
(D) 4 3 1 2

If A and B are independent events the,

Awyd Buyb eriunm Hapsfladr erafle

(A)  P(AB)=P(A/B)P(A) P\ P(AB)=P(A)xP(B)
(C) P(AB)=P(B/A)P(B) (D) P(AB)=P(A)+P(B)

A parameter is computed from
W Laruarene araupeuaTalDBler B)(HHS sasSLLuHEng)

(A) Sample \M\ Population
ga) @S Hs1ES
(C)  Small number of data (D) Large number of data
G®DDHS SleTe|erer eSluyhIsET o8& SlaTeyerer 64lUTmIseT
19 117/DM/22
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72.  The value of F distribution is always
F upeuallen pai_igen odllumang) ertibumipgb

(A) Positive (B) Zero
Crirenm LpSDuILD
(C) = ﬁ All the above
00 G aneu enenSHg)D

73.  Significance of a simple correlation coefficient can be tested by
L [Hnays Qapelern Blemss s ahg Carsamanien opaws Siluemd

w [-test (B) z-test

t -Cargenan z-Gangenen
(C)  y°-test (D) F-test
z* -Csrsemen F -Gergenen

74.  The data collected on the weight of a group of students after recording their weights
with a weighing machine are
e erenL GanLulan epeiors wremeuiaaflen erenLemwiL unflw efleuyrisemar GaaflliLg)

(A) primary data (B) secondary data

WS Hlenay efleuid @uesrmbd Hlenew efleunid
d\ primary, continuous data (D) none of these

e Hlaw, Qerirsflunear eflaurd Qeundle eggiLilerene

75.  The range of the given set of values
15, 25, 41, 56, 65, 70 1s
15, 25, 41, 56, 65, 70 &w wHiyseilen aifs

(A) 41 (B), 70

(C) 56 w 55
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76.

77.

T8.

Which one of the following is not true?

GetreuHeuahbleh eTeneu Seummeg)?

(A) Statistics does not deal with individual measurements
Yerefudwed @ safllss wdlliemu amaswneareag) Gaame

(B) Statistics deals only with quantitative information
yarafluldwe eramsemar L HGW enswTeTdng,

(C) Statistical restults are true only on an average
yetafluldwe pyeayaer gnaflaatico wl (HGw 2 amrento

M Statistics cannot be misused
yaraflulwena seuprs LweTUHSS (Plgwrg)

Analysis of Variance (ANOVA) was introduced by
wIYUTCHU UGUUTLE Sifpastiu@ss eeusgeu

(A)  W.G. Gosset JF\ Prot. RA. Fisher
W.G. Canllal Gugm R.A. SGagm

(C) Prof. A.L. Bowley (D) Karl Pearson
Gunm A.L. Queral smiev wrgen

Student’s t-test was introduced by
LTl t -Ureueme MpsliuBSH e

(A) Karl Pearson (B) Laplace
smiew Qwimges QTLIELTEN

(C) Prof. R.A. Fisher ﬁ William S. Gosset
Gugrm R.A. JGagT efdalwib S. srGlev

The range of a multiple correlation coefficient is

ue U(Hmey 6iFs eramig)
(A) Otol (B) Oto =
0 Qe (mbg) 1 0 efleflmba o
w “1tol (D) - to =
—1 efleSl(mbay 1 —o0 afledl(mbg)

21 117/DM/22
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80. The median of 30, 17, 43, 39, 40, 18 1s
30, 17, 43, 39, 40, 18 g dlweundler @eanLHlane

(A)
(©€)

30
39

(B) 39.5
34.5

81. If the mean and mode of 50 values are 20 and 35 respectively, then the median 1s
50 wéliyseflen syref wLHmIb PaE wWanGuw 20 wHmib 35 eafléd, @ Hlaauiar wHliy

(A)
(C)

32.5
8.3

82. Match the following
QummESSs.

(a)

(b)

(c)

(d)

List A

Tabulation of Data
Léret] efleupmigseaner
LI g WIGENLDSSHE)
Classification of Data
LéTefl efleurmisener
cuansLIL(HS8IHe0
Primary Data
(psafiene Liaref
eSleuymiger
Secondary Data
glanewt Hlene Lemer]
efleuprhisern

Codes :

(A)
(B)
(©€)

117/DM/22

(a)
2

CAJCAJ[‘O&J?

B = = =~

3
4
4

«8{‘25

(D) 5

List B

1. Borrowed information
QoA Blmhg QamHasiuL
erefl efleurrusener Gumieug)

2. Data is collected for the first time
yere eSleurmisaner (LpSeT
apenpuwins Sy’ (Heug)

3. Grouping the related facts
@65 uaTLenLwl Ljerafl
efeurmsener Qgn@Liurs AMALLg

4. Data is arranged in rows and columns
yerefl efleugragener Hleng wHmid Hlrerseflcd
DELOLILIG)

(d)

— DD =

22



83.

34.

85.

86.

Double sampling plan is based on
Q@ sp pap L gdlem SiguUEmL
(A) good lots

grwrer Cgm@slser
two samples

@) FamiseT

The error sum of squares can never be

(B)

(D)

bad lots

s1wHH AsTESsET
assignable variation
GOUALS5865 wrmyur

£Cu 2 ererdlé etz Wenpulen QUi euisssElan sl (S CBTMsWLTS QMHESETS)

(A) O
0
negative
Gr&lmiod

(B)

1
1

(D) positive

Gl

The Central Statistical Office (CSO) bring out publication of reports on
iAW LereNuwd piie] S@IeUasLD iF6 SidléEamsemu Ceuefludl(Heugy

Annual Survey of Industries
e Qgmader serGleu®miiy
Annual Statistics
e (® yerafluflweb

(©)

(B)

(D)

The Central Statistical Office is located in
s Lyereflufwich ey sigaussSar @mudLorearng

(A) Pune

Lp@orT
Delhi
QLved

(B)

(D)

Journal of Industrial Statistics
Lerefludwie sjer@eu®iillen Lsssd

Annual Statistical Surveys
gpan® yereflufwe senbleuBuy

Mumbati
(_L;)L'Dsmu

Chennai
Qaeenen

The number of oil packets sold by a shopkeeper on the consecutiv days are 23, 52,
10, 25, 20. What is the average number of oil packets sold?
(M seLssni QsTLibs 5 prisalld elho eranQam o emnasaflen aranaisms 23, 52, 10,

25, 20 @b, AHsLILL L eTamGlail & mpaater gma eresmen?

(A)
26

23

(B)
(D)

52
20

117/DM/22
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88.

89.

90.

91

92.

The correct relationship between A.M. G.M. and H.M. is
AM. G.M. vpmib HM. Qendlafien_CGu o erer eflwnar 2 pey

(A) AM.=G.M.=HM. (B) G.M. > A
(C) HM. = GM. > AM. vm\ AM. > G.

If r=1 or r=-1, the two regression lines are
r=1 sweg r=-1 sp augeub erafle), Qream(® oL e blgTé Can(HsEpn

\W Coincide (B) Parallel

RETDTE @) EnewTU|LD @ enemTins
(C) Perpedicular to each other (D) None of these
pam&QsTann Q&m@GSSTs e GeupmieT grgiblereney

The range of chi-square variate is
MEGATES LiTeualen al&s

(A) -oto+® (B) Otol
—- o el mBg + © 0 efledl(mbay 1
0to o (D) - to+0
0 e9efl(mBg % — oo ellambg +0

The probability density curve of the I Distribution 18
F-ureueden 2ars o1& auenera| <4,eg)

(A) Negatively skewed ‘4\ Postively skewed
erélmoenm GamlL b Grmoanm GamLLb
(C) Symmetrical (D) Any of the above
gohlene Cue 2_dremteundler FETeug) el

In case of positive skewed distribution, the extreme value lie in the
o Crisaiiu CamLaperer Ligaualld, (paan FluLser e erer @Lib

(A)  Left tail Right tail
@Lpanen QUGS (LPEn T

(C) Middle (D) Anywhere
pHesle GTRIGLD
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93.

94.

96.

97.

Which of the following is not a measure of dispersion?

ECy Qar@ésriul Heararamaisaiie argl Ly ms ety Gdand?

(A) Mean deviation (B) Standard deviation
gymef eflessid L eflevssid

(C) Quartile deviation ﬁ Mean
STELOTET 61l0&HEHD gal_ (D& gyrad

If the two observation are —10 and 10 and their Harmonic mean 1is
@reaw(® wdiyser —10 whmb 10 e QmHsTD isen Genss synsl

(A) 10 (B) o0
© 5 M o)

if X is a random variable having its pdf f(x), then E(X) is called
X erénm eumitiy ol QsTeTL s SaTaey LT5S) f(x) erafler, E(X) eremugy

ﬁ(\ Arithmetic mean (B) Geometric mean
gal_ (& eymal Qu(mss grma
(C) Harmonic mean (D) Progressive mean
Qenss sy Qg symefl

The lines of regression intersect at the point
@raw® Qs Gurée CarBaer Qeul_(Hb @b

A) (X,Y) (X,Y)
(C) (0,0) D) 1,1

The mean and variance of a chi-square distribution with n degrees of freedom are
&L_1g GIENLD CTERTENT &SNS N 2 DL L) &-euiss Lgeuader spmafl inmmibd wrmum(

(A) %and n respectively \K n and 2n respectively
% WOHMID N g n wHm 2n Yeg
(C) 2n and n respectively (D) 2n and 4n respectively
2n LOMD N TG 2n wLHMID 4n Y eTG)
25 117/DM/22
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98. The median of the following values : 7, 8, 5, 3, 2, 9, 4, 6, 1
Gemeugpid wdiyser 7, 8, 5, 3, 2, 9, 4, 6, 1 S Fweupdler @enL_blene eremug)

(A) 4 5
C) 6 (D) 7

99.  The variance of a set of numbers is 36. Its standard deviation is
e ENUALL aansalen dwss aiiéss srrefl 36 @b, e S afevssLd

(A) b 6
C) 7 (D) 8

100. When mean is 79 and variance is 64, coefficient of variation 1s
'?mrﬂ 79 wpmib wrnur® 64 s QMEED Cug, LIMLITLIGET UMSS Qe
)

10.26 (B) 11.26
(C) 12.26 (D) 13.26
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